
3 «А» класс (20.03) 

Тема «Табличное деление с остатком» 

 

18 : 7 =     (ост.   ) 65 : 7 =     (ост.   ) 

29 : 8 =     (ост.   ) 77 : 8 =     (ост.   ) 

4 : 8 =     (ост.   ) 42 : 8 =     (ост.   ) 

30 : 7 =     (ост.   ) 68 : 7 =     (ост.   ) 

1 : 8 =     (ост.   ) 44 : 8 =     (ост.   ) 

54 : 8 =     (ост.   ) 61 : 7 =     (ост.   ) 

31 : 7 =     (ост.   ) 17 : 8 =     (ост.   ) 

59 : 8 =     (ост.   ) 73 : 8 =     (ост.   ) 

71 : 8 =     (ост.   ) 30 : 8 =     (ост.   ) 

29 : 8 =     (ост.   ) 16 : 7 =     (ост.   ) 

59 : 7 =     (ост.   ) 57 : 7 =     (ост.   ) 

 


